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Economics
Which of the following is most likely to be falling as MP curve increases?

CFA® SAMPLE QUESTION – LEVEL I

Q:

Marginal Cost (MC)ⓒ

Mr. Zap Cheng, CFA
Candidate Services 
Committee

Date of issue:
1 Jan 2024

Disclaimer: This material is produced by a voluntary study group leader. CFA Society Hong Kong 
makes no representations about the accuracy, reliability, completeness, or timeliness of this 
material. Use this material at your own risk.

#1-85A

CORRECT ANSWER:

A firm's MP curve is linked to its MC 
curve.

As MP increases, MC will fails.
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